

Reappear Grade Sheet of B.Tech Biotechnology _4th_Sem_July_2019

Sr.	Reg. No.	Fundamentals of Microbiology Fermentation Technology CSU008 CSU006 Credit Hours- 4 Credit Hours- 3						Biochemistry and Metabolism CSU009 Credit Hours- 4				Immunology CSU007 Credit Hours- 4						etics J010 Jours- 4					Credit	Hrs - 3	Total	Total Point	Grade Point			
No	Kcg. 110.	Grade Awarded	Earned Credits			Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	1	Grade Points	Point Secured	Grade Awarded	1	Grade Points	Point Secured	Grade Awarded	Earned	Grade Points	Point Secured			Grade Awarded	Earned Credits	Grade	Point Secured	8	Secured	Average
1	150132		١	J.A	•	N.A				N.A				N.A				N.A			•	Entrepreneurship Development	OE012	B+	3.00	8.00	24.00	3.00	24.00	8.00
2	150331	N.A				N.A			N.A				N.A				C+	4.00	6.00	24.00	N.A	N.A		N	.A		4.00	24.00	6.00	
3	150428	3 N.A			N.A			N.A				N.A				B+	4.00	8.00	32.00	N.A	N.A		N	.A		4.00	32.00	8.00		
4	150487	N.A			N.A				N.A				N.A			В	4.00	7.00	28.00	N.A	N.A		N	.A		4.00	28.00	7.00		
5	150706	С	4.00	5.00	20.00	С	3.00	5.00	15.00	D	4.00	4.00	16.00	D	4.00	4.00	16.00	C	4.00	5.00	20.00	Solar Energy	OE021	D	3.00	4.00	12.00	22.00	99.00	4.50
6	151013	51013 N.A					N	I.A		A	4.00	9.00	36.00	0 N.A C 4.00 5.00 20.00 N.A		N.A	N.A		N	.A		8.00	56.00	7.00						

Date of Issue: 20.08.2019

Prepared By

Checked By



Reappear Grade Sheet of B.Tech Biotechnology _5th_Sem_July_2019

		Animal Biotechnology									imal Biotechnology Analog and Digital Electronics			M	Modern Techniques and Instrumentation			G						Food Biot	echnolog	v		Proje	ct IV A		Industrial Visit -V						
				CSU(07		CS	SU060			CS	U029			Cree	lit Hours	- 3				CSU	J061	*	BT 301				BT 303								
Sr.		Credit Hours- 4				Credit Hours- 4				Credit	Hours- 3								Credit Hours- 3			Credit Hrs - 1								Total	Total	Grade					
No		Grade Awarded		arned redits	Grade Points	Point Secured	Grade Awarde	Earned d Credits			Grade Awarded	Earned Credits	Grade Points	Point Secured				Earned Credits		Point Secured	Grade Awarded	Earned Credits		Point Secured	Grade Awarded	Earned Credits					Grade Points			~ -	Point Average		
1	150132	132 N.A N.A							N	I.A		N.A					N.A			N.A			Satisfactory														
2	150282										•								R.L														•	•			
3	150706	С	2	4.00	5.00	20.00	F	4.00	0.00	0.00	D	3.00	4.00	12.00	Law in Daily Life	OE044	D	3.00	4.00	12.00	C	3.00	5.00	15.00		N	I.A			N	I.A		17.00	59.00	3.47		
4	150846					N.A	•		N	I.A	•				N	А			N	.A	•		N	I.A			Satis	factory									
5	150848	0848 N.A			N.A N.A N.A				N.A			N.A				N.A				Satisfactory																	
6	151013	C+	2	4.00	6.00	24.00	F	4.00	0.00	0.00	D	3.00	4.00	12.00		N.A					F	3.00	0.00	0.00	N.A				N.A				14.00	36.00	2.57		

F grade course to be repeated

Date of Issue: 20.08.2019

Prepared By

Checked By



Reappear Grade Sheet of B.Tech Biotechnology _6th_Sem_July_2019

				U063	у	Plant Tissue Culture CSU066 Credit Hours- 4				Bioinformatics CSU065 Credit Hours- 4				Introduction to Taxation and GST OE050 Credit Hours- 3			Biosafety, Bioethics and IPR CSU064 Credit Hours- 3				Project IV B BT302 Credit Hrs - 1				SPRINT-VI SP006 Credit Hrs - 1							
Sr. No	Reg. No.	Grade Awarded	Earned Credits		Point Secured	Grade Awarded	Earned Credits	Grade	Point Secured	Grade Awarded	Earned Credits	Grade	Point Secured	Grade Awarded	Earned	Grade Points	Point Secured	Grade Awarded	Earned	Grade	Point Secured	Grade Awarded	Earned Credits	Grade	Point Secured	Grade Awarded	Earned Credits	Grade	Point Secured	Total Registered Credit	Total Point Secured	Grade Point Average
1	150098					Į				<u> </u>				ļ	1		R.L	ļ				Į	1		1	Į				Į	Į	
2	150282																R.L															
3	150888 N.A N.A N.A N.A C+										1.00	6.00	6.00	1.00	6.00	6.00																
4	151013	D	4.00	4.00	16.00		N	.A			N	.A			N	.A			N	.A			N	.A			N	.A		4.00	16.00	4.00

Date of Issue: 20.08.2019

Prepared By

Checked By



Reappear Grade Sheet of B.Tech Biotechnology _7th_Sem_July_2019

Sr.	Reg. No.	Red		t Technol J004 Hours- 4	ogy	Bi		Engineeri J067 Hours- 4	ng		OE	Energy 021 Iours- 3	Total Registered	Total Point	Grade Point		
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average	
1	151013	С	4.00	5.00	20.00	D	4.00	4.00	16.00	D	3.00	4.00	12.00	11.00	48.00	4.36	

Date of Issue: 20.08.2019

Prepared By

Checked By